VIRGINIA HIGH SCHOOL LEAGUE

2008-09 VARSITY SCHOLASTIC BOWL

MATCH 32
First period: 15 tossups, 10 points each
1.
He was in charge of what is now Louisiana State University before moving up the military ranks to become major general of Union volunteers and then leading some fighting at Vicksburg and Knoxville. Identify this general whose middle name was Tecumseh and became famous by his 1864 march through Georgia to the sea.

ANSWER: William T. Sherman
2.
In interior design, it describes the colors white or gray and their various shades, especially when used in paint or furniture. Give this term that is also a setting of your car's transmission, usually located between "reverse" and "drive".

ANSWER: neutral
3.
Older than haiku, its 31 syllables are often written on a single line in Japanese.  It has 5 lines, with the first and third lines having 5 syllables while the other lines all have 7 syllables. Name this poetic form that shares its pronunciation with a popular brand of toy truck.

ANSWER: tanka 

4.
The Norse god Loki, up to his usual tricks, convinced the blind god Hoder to throw it at Balder-- and it killed Balder.  Name this plant, considered a parasite 11 months of the year but very popular in December because of all the people that kiss underneath it.

ANSWER: mistletoe
5.
They gave cedar wood to the ancient Egyptians and a written alphabet and the papyrus to write it on to the Greeks. Identify this civilization, famed today for its seafaring skills, whose major cities before the time of Christ included Sidon and Tyre.

ANSWER: Phoenicians
6.
John Kennedy suffered from a lack of it and thus was considered to have Addison's disease. Identify this hormone, produced by your adrenal glands, that can be overproduced in people under great stress, making it very difficult for them to lose weight.

ANSWER: cortisol
7.
  Its lines include, "I, now thirty-seven years old in perfect health begin, Hoping to cease not till death." Name this Walt Whitman poem, originally untitled, in which he says, "I am large…I contain multitudes."

ANSWER: Song of Myself
8.
 Her daughter Carol's 2008 book confirms that she has Alzheimer's disease and must be told repeatedly that her husband Denis has already died. Name this conservative British Prime Minister who teamed with Ronald Reagan in the 1980's to help push the Soviet Union into extinction.

ANSWER: Margaret Thatcher
9.
 One example appears in Shakespeare's Julius Caesar : "Why, man, he doth bestride the narrow world like a Colossus", while another appears in the phrase, "A pretty girl is like a melody". Identify this literary technique that compares two things (similar or not) using the words "as" or "like".

ANSWER: simile 

10.
 THIS IS A 10-SECOND COMPUTATION QUESTION. A line in a Java program says "public static double pow" [reader, spell POW out] and then in parentheses, "double 4, double 3". What two-digit number will be the result?

ANSWER: 64 (4 cubed)

11.
 In the old Engelbert Humperdinck song that says, "Tell me cuándo? [KWONN-doe] cuándo? cuándo?", the singer asks his lover three times to answer--what question word in Spanish?

ANSWER: When?
12.
It occurred on November 8, 1923 when its leaders tried to use a city in southern Germany as a base for their intended revolution against the Weimar government. Give the 6-letter German word for this attempted coup in a Munich beer hall.

ANSWER: Beer Hall Putsch
13.
He figured out the formula of diethyl ether (used as a 19th-century anesthetic) and also figured out Charles' Law that gas expands as it gets hotter. Name this British chemist who discovered the law of multiple proportions and wrote a paper on his own colorblindness.

ANSWER: John Dalton
14.
Seedless plants like ferns and horsetails use it to transport nutrients throughout their length. Name this type of biological system that, in many plants, consists of the xylem, the phloem and the meristem.

ANSWER: vascular system

15.
Its Appendix A is an article written for the New Orleans Times-Democrat of March 29, 1882, while its end speaks approvingly of the city of St. Paul, Minnesota. Identify this non-fiction work by Mark Twain that tells of his long boat trip between those two major cities.

ANSWER: Life on the Mississippi

Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
 More than 800,000 people in China's Yanbian prefecture speak--what other language that is used in one of China's neighbors?

ANSWER: Korean
1B.
 Give the term for a narrow body of water between two larger bodies of water, one example of which is the English one that connects the North Sea with the Atlantic Ocean.  

ANSWER: channel
2A.
 What 2 letters are added to the stem of the French infinitive "parler" [par-LAIR] (or "to speak") to create the formal "you" (or "vous" [voo]) form in the present indicative tense?

ANSWER: E-Z ("parlez")

2B.
 What flying creature is represented by the French word "papillon"  [paw-pee-OWN]?
ANSWER: butterfly
3A.
 Which chemistry lab technique means, "To find the smallest amount of a substance needed to create a reaction with another substance" ? 

ANSWER: titrate (accept forms of the word)

3B.
 THIS IS A 10-SECOND COMPUTATION QUESTION. The floor of a concert hall contains 300 chairs that each exert a 200-Newton force on the floor when empty. When 250 of those chairs are filled by people that each exert a 600- Newton force on the floor while seated, what is the total force on the floor?  

ANSWER: 210,000 Newtons or 210 kN  ([300 x 200] + [250 x 600])

4A.
 Give the name of the girl who marries Lucentio at the end of Shakespeare's The Taming of the Shrew, a name shared by a satellite of the planet Uranus.

ANSWER: Bianca
4B.
 What classic comedy features a scene where Christopher Lloyd plays a scientist and hangs from a clock in a town square?

ANSWER: Back to the Future

5A.
 THIS IS A 20-SECOND COMPUTATION QUESTION. In a triangle, angle A is 30° and the side across from angle A has a length of 9 units. Give the length of the side across from angle B if angle B is 41.8° and sin 41.8° = 2/3.
 

ANSWER: 12 units (by Law of Sines, 0.5 ÷ 9 = 2/3 ÷ X)

5B.
 THIS IS A 20-SECOND COMPUTATION QUESTION. When a ladder is leaned against a building, the ladder should form a 75° angle with the ground. If the cosine of 75° is ¼, how far away from a building should the base of a 40-foot ladder be set?   

ANSWER: 10 feet (40 cos 75° = 40 x ¼)

6A.
 What classic film features a scene where a group of baseball players is surrounded by corn as high as an elephant's eye?

ANSWER: Field of Dreams
6B.
 What group of people's autonomous region is best-known for its people that want religious freedom from China, including the Dalai Lama?

ANSWER: Tibetans 

7A.
 THIS IS A 30-SECOND COMPUTATION QUESTION. If a mole of carbon dioxide CO2 weighs 44 grams, what fraction of that weight (in lowest terms) is made up of the oxygen atoms?  

ANSWER: 8/11 (32/44)

7B.
 Which chemistry lab technique means, "To heat a liquid to boiling, capture the vapor, cool the vapor, and collect the vapor" ? 

ANSWER: distill
8A.
 Name the sea that borders (among other countries) Saudi Arabia, Yemen and Sudan. 

ANSWER: Red Sea
8B.
 Name the niece of Duke Frederick who marries Orlando in Shakespeare's As You Like It, a name shared by a satellite of the planet Uranus.

ANSWER: Rosalind 

9A.
 What type of crackers, commonly used in "s'mores", are named for a 19th-century Presbyterian minister?

ANSWER: graham crackers

9B.
 Identify the beef dish with sour cream that is poured over noodles and is named for a Russian count.

ANSWER: beef  stroganoff
10A. 
THIS IS A 30-SECOND COMPUTATION QUESTION. If the function f(x) = 4x2 - 6 and the function g(x) = 7x + 8, calculate "f of g of x" when x = 1.
  

ANSWER: 894  [g(1) = 15, so f(15)]

10B.
 THIS IS A 30-SECOND COMPUTATION QUESTION. Give the two complex roots of the quadratic equation x2 + 6x + 13 = 0.
      

ANSWER: -3 ± 2i  [(-6 ± √-16) / 2]

Third period, 15 toss-ups, 10 points each

1.
 His platform, which called for free silver coinage and nationalization of American railroads, was "populist" enough to win Idaho, Colorado and Kansas in the 1892 presidential election. Name this military man who lost to both Grover Cleveland and Benjamin Harrison.

ANSWER: James Weaver
2.
Within the class Mammalia, three species of elephant are put in the taxonomic order Proboscidae [pro-BOSK-a-day] because, unlike humans, they use--what part of their bodies to eat with?

ANSWER: their nose
3.
THIS IS A 10-SECOND COMPUTATION QUESTION. The state of Confusion has a tax rate based on income. You pay 5% of your first $20,000 in income and 6% of the next $30,000.
  Calculate the tax due for someone making $45,000.


ANSWER: $2,500 (1,000 + 6% of $25k)

4.
Its main character turns in the owner of the grocery store where he works as an illegal alien. Eventually, that character's son Allen wins an essay contest by plagiarism. Identify this last novel by John Steinbeck that features the Hawley family and is named from a famous Shakespeare line.

ANSWER: The Winter of Our Discontent

5.
This star of the 1935 film Princess Tam-Tam adopted 12 children that she called the "Rainbow Tribe" after she became a French citizen and received the Croix de Guerre [craw day gair] for her Resistance work during World War II. Name this black American singer who created a dance act known as the Danse Sauvage.
ANSWER: Josephine Baker
6.
It can refer to numbers like 16 and 35 that have other factors besides 1 and themselves. Give this 8-letter word that, in science, is the result of combining several chemical elements together into a material that retains many good points about each material.

ANSWER: composite (numbers)

7.
 The 2008 suicide of scientist Bruce Ivins, who was finally pinpointed as the source of the 2001 anthrax attacks in Washington, D.C., came just weeks after the Justice Department paid almost $6 million to--what scientist who was the original "person of interest" in the case?

ANSWER: Dr. Steven Hatfill
8.
 As a verb, it can mean "to send away" or "to kill". As a noun, it can be "a news story" or "an important military message". Give this 7-letter word whose other meanings as a verb can include "quickly sending an ambulance to your house after you dial 911".

ANSWER: dispatch
9.
 THIS IS A 10-SECOND COMPUTATION QUESTION. If the specific heat of iron is 0.45 joules per gram degree Kelvin, calculate the energy required to heat up a 200-gram piece of iron from 25° C to 55°C.  Make sure to include correct units.

ANSWER: 2,700 Joules (or 2.7 kilojoules)       (200 x 30 x 0.45)

10.
 It features Robert Shaw as crime boss Doyle Lonnegan, who loses half a million dollars on a fake fixed horse race set up by Johnny Hooker and Henry Gondorff. Name this Oscar-winning film starring Robert Redford and Paul Newman that featured the Scott Joplin tune "The Entertainer".

ANSWER: The Sting

11.
 Two answers needed! There are 7 possessive pronouns in English. Besides "his", hers" "mine", "ours" and "its", name the other two.

ANSWER: yours and theirs
12.
Often found together with obsidian, it is usually light-colored and low in iron and magnesium. Name this type of extrusive rock that cools off very quickly and is so lightweight when it exits a volcano that it may float on water because of all its air holes.

ANSWER: pumice
13.
In the novel Les Miserables, Jean Valjean steals bread and ends up spending a total of 19 years in prison. How long was his original sentence?

ANSWER: 5 years (the other 14 were for multiple escape attempts)

14.
Its 20 books each have many short chapters, the majority of which consists of a cross between the Biblical book of Proverbs and a set of conversations between disciples and a master. Name this important Chinese text of Confucianism.

ANSWER: Analects
15.
While a young architect in Chicago, Frank Lloyd Wright worked for--what American architect who designed the Guaranty Building in Buffalo and the Wainwright Building in St. Louis and created the phrase "Form follows function" ?

ANSWER: Louis Sullivan
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
 THIS IS A 10-SECOND COMPUTATION QUESTION. Give the two vertices of the hyperbola whose equation is x2/25 - y2/9 = 1.
  

ANSWER: (-5, 0) and (5, 0)
2.
Name the Charles Dickens work featuring the character Abel Magwitch.  
ANSWER: Great Expectations
3.
Name the high-school English teacher who won a Pulitzer Prize for his autobiography Angela's Ashes.

ANSWER: Frank McCourt
4.
In 1909, he began a 2-year stint as Music Director of the New York Philharmonic--after he'd finished his 9th symphony and while he worked on his unfinished 10th. Identify this German composer of Das Lied von der Erde [dass leed foan dair AIR-da] and the "Symphony of a Thousand".

ANSWER: Gustav Mahler
5.
It is the result of putting DNA strands together that do not normally occur together.  Name this type of artificial DNA.

ANSWER: recombinant DNA

END OF MATCH 32
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